Trig in a right angled triangle
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[Answers at the end of this unit]
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	Answers


	Q1.  (a) 17.2cm  (b)  49.8º
	Q2. (a) AB = 14.1    AC = 17.3
       (b)  ABD = 35.3 º
	Q3.(a)  16.3cm   (b)  CBA = 66.6 º, 
       CBD = 46.8 º
     

	Q4.  (a)  35.3m   (b) 35.7m
        (c)  8º
	Q5.  (a)  ED = 34.9  EB = 34.9             EA = 37.6  (b) 23.6 º  , 21.9 º
	Q6.  (a)  h = 18.5   (b) 19.8   (c)  69 º



	Q7. (a)  BF = 35.0,  AF = 36.7
       (c)  17.4 º  
	Q8.  (a) 15.8   (b)  46.4 º
	Q9.     7.1 º is acceptable


	Q10.  Height  = 29.4
	Q11. 76.8 m
	Q12.  26.2 cm by 27.6cm
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The angles of elevation of two planes
from a point on the ground

are 56° and 63° respectively.

. How far apart are the planes?
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The diagram shows a regular pentagon of

side 17cm. The pentagon is enclosed by a

rectangle ABCD. Find the lengths of the sides

of the rectangle.




image1.png
19em

“‘-"

The diagram shows a cone. The slant height
is 19cm and the radius of the basc is Scm.
Calculate a) vertical height of the cone

b) angle ABD.

The diagram shows a cube of side 10cm.
Calculate a) lengths of AB and AC

b) angle CAB.

10cm

/ 10em




image2.png
The diagram shows a cylinder of height 15cm.
The diameter of the base is 13cm. E
Calculate a) length of BC

b) angles CBA and CBD

15em C 32m B
The diagram shows a horizontal rectangular
arca ABCD. In corner D there is a vertical flag pole.
Calculate a) length of BD b) length of BE
©) size of angle EBD
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The diagram shows a cuboid. The length of the
sides are shown in the diagram.

The diagram shows a square based pyramid
Caleulate a) the lengths ED, EB and EA of side 14em. The slant height is 21em.
b) angles BEC and AED Ol side 14

a) height EF of the pyramid.
b) length GE  ¢) angle EGF
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The diagram shows a triangular prism.
Calculate

a) lengths BF and AF

b) angle AFB

ST
The diagram shows a conc.

Calculate  a) slant height of cone
b) angle ACB
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The diagram shows a construction for a warchouse.
By law the angle which the sloping roof makes
with the horizontal should be less than 8°.

Is this the case for this construction?

The diagram shows an obelisk.
The length of the sun's shadow s 15m.
The angle of elevation to the top of

the obelisk is 63°. Find the height of the
obelisk.




